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ere’s a sma
graph with
5 vertices and
no edges.

The pyramid tree
has 7 nodes.

L=[’4L2=2.

the pyramid tree is: . 1 .
total: —t— —t—F
26 bytes + e
° 1
+ °
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the pyramid tree is:

total:
26 bytes

he binary or
the pyramid tree is:
°4B for n_nodes
>16B per node

> 7 nodes
total:

116 bytes

in the Champaign-Urbana area:
2570,555B for ASCII, and
©942,164B for binary.

Why is the binary file larger?

We saved a lot of space by
o If we had written all four fields
o for all nodes in ASCII,

o the result is over 1.5MB.

And most numbers are small.
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